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1 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 4.83 60.19 | =hs | 000 ~ 483 | 1.76 9.37 Thlst 1.00 | 5.00 ~ 5.08 60.19 | =hs | 5,00 ~ 5.08)|1.756 9.37
2 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 7.67 98.32 | =St | 0.00 ~ 7.67| 223 11.92 st 1.00 | 5.00 ~ 1027 98.32 | #h4t | 5,00 ~ 1027|223 11.92
3 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 7.49 95.69 | FnRS | 000 ~ 7.49| 1.74 9.33 Thlst 1.00 | 5.00 ~ 9.81 95.69 | Ths | 500 ~ 9.81 | 1.74 9.33
4 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 7.76 99.62 | #nSt | 0.00 ~ 7.76 | 2.12 11.36 Thlst 1.00 | 5.00 ~ 1055 99.62 | =h4 | 5,00 ~ 1055|212 11.36
5 100kN/mM%#BZ 5 — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 7.76 99.62 | #nSt | 0.00 ~ 7.76 | 2.12 11.36 Thlst 1.00 | 5.00 ~ 1055 99.62 | =h4 | 5,00 ~ 1055|212 11.36
6 100kN/m##8x5 | 1.00 | 0.00 ~ 1.11 116.68 |3m%Ei#BzB| — ~ — — — | 100kN/m#%#8%% | 1.00 | 10.53 ~ 13.94 116.68 [3mzx#Z5 - ~ — — —
s 1.00 | 1.11 ~ 889 100.00 | =St | 0.00 ~ 889|219 11.73 Thlst 1.00 | 5.00 ~ 1053 100.00 | =nLst | 5.00 ~ 1394 2.19 11.73
” 100kN/m%#82% | 1.00 | 0.00 ~ 1.11 116.68 |3mZzi#BABH| — ~ — — — | 100kN/m%# %5 | 1.00 | 1053 ~ 13.94 116.68 |3m%i#Bzx5 - ~ — — —
Thilst 1.00 | 1.11 ~ 889 100.00 | =huist [ 000 ~ 889 2.19 11.73 ZnLst 1.00 | 5,00 ~ 1053 100.00 | EnLS | 500 ~ 1394 2.19 11.73
P 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3mZEBZ B - ~ — — —
Thilst 1.00 | 000 ~ 7.75 99.48 | Fhst | 000 ~ 7.75| 2.06 11.02 ZnLst 1.00 | 5.00 ~ 1083 99.48 | Fhist | 5,00 ~ 1083| 2.06 11.02
9 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 3.55 44.84 | =nLS 000 ~ 355 | 2.21 11.85 Fhst 1.00 | 5.00 ~ 5.14 44.84 | =hs | 5,00 ~ 5.14 | 2.21 11.85
10 100kN/MZ#8Z % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%Z#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 4.95 61.69 | =nst | 0.00 ~ 0.00| 1.58 8.44 Fhst 1.00 | 5.00 ~ b5.58 61.69 | TS | 500 ~ 558 | 1.58 8.44
11 100kN/MZ#8Z % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%Z#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 5.84 73.08 | =St | 0.00 ~ 0.00| 1.62 8.65 Fhst 1.00 | 5.00 ~ 6.86 73.08 | F#hst | 500 ~ 6.86| 1.62 8.65
19 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/mMi%#8% % — -~ — — |3mZEBZ S - ~ — — —
FhnLst 1.00 | 0.00 ~ 5.66 70.77 | =S | 0.00 ~ 0.00| 1.65 8.81 Fhst 1.00 | 5.00 ~ 6.43 70.77 | FhLS | 500 ~ 6.43 | 1.65 8.81
13 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 5.31 66.18 | =n4t | 0.00 ~ 0.00| 1.59 8.62 Fhst 1.00 | 5.00 ~ 6.07 66.18 | TS | 5,00 ~ 6.07| 1.59 8.62
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